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Unit 2: Exponents & Radicals

2.1 Square & Cube Roots
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Determine the value of each expression. Express your answer as integers or fractions in lowest
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Prime factorization (factor tree) can be used to determine if a number is a perfect square or
cube.
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Determine and state if each number is a perfect square, perfect cube, bo@hsor neither: _ 3
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Evaluate, with the aid of a calculator if necessary:
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b) The volume of a cubic box is 27 000 in.? Determine its side length.
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2.2 Integral Exponents
Exponent Law Summary \\E‘e
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Note that a and b are rational or variable bases and m and n are l
; integral exponents. B L ans J) 2344 -
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Exploring Negative Exponents:
Continue the pattern: T
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Simplify using expansion and cancellation, then simplify by exponent laws:
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Ex. Write each expression with positive exponents.
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Ex. Write each product or quotient as a power with-a single exponent.
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Ex. Writé each expression as a power_with a single, positive exponent. Then, e\ia_[ygge where
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Ex. It is estimated that there are 108 billion grasshoppers in an area of 27 000 km? of
Saskatchewan. Approxnmately how many grasshoppers.are there per square kllometre'-’ Solve
_arithmetically and by usi,ng exponent Iaws ~
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